Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Digital Electronics and Digital Instruments
Subject Code : 2TEO4DEI1 Branch: Diploma (Electrical)
Semester : 4 Date : 31/10/2018 Time :10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) Gate has One Input and One Output.
(A) OR (B) NOT
(B) NOR (C) AND
b) (16)s in hexadecimal number system is equal to .
A A (B) C
(©) 5 (D) E
c) The digital systems usually operate on system.
(A) Binary (B) Decimal
(C) Hexadecimal (D) octal
d) The binary system uses powers of for positional values.
(A)8 (B) 10
©2 (D) 16
e) After counting 0, 1, 10, 11, the next binary number is
(A) 12 (B) 100
(C) 101 (D) 110
f)  The 2's complement of 1000, is
(A) 0111 (B) 1001
(C) 1001 (D) 1000
g) The number 128 is equivalent to decimal
(A) 12 (B) 10
(C) 20 (D) 24
h) The NOR gate output will be high if the two inputs are
(A) 00 (B) 01
(©)o1 (D) 11

i)  Which of following are known as universal gates?
(A) AND & NOR (B) NAND & NOR

(C) XOR & OR (D) NAND & OR
j)  According to boolean law: A +1="7?

(A)1 (B)0

©) A (D) A’
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K)

De-Morgan’s theorem states that

(A) (ABY =A’+B° (B)(A+B)=A’*B

C)A +B’ =AB’ (D) None of the above.

The logical sum of two or more logical product terms is called
(A) SOP (B) POS

(C) OR Operation (D) AND Operation

When both inputs of a J-K flip-flop cycle, the output will
(A) Invalid (B) Not changed

(C) Change (D) None of the above

Where Counter is Used?

(A) For Count Object (B) For Count Pulses

(C) For Count Visitors (D) All Above

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

w > W > w >

>

m > W >

>

Attempt all questions

Explain Three Basic Logic Gates.
Explain NAND Gate as Universal Gate.
Attempt all questions

Write down Properties of Boolean algebra and Explain all in Detail.

Explain De Morgan’s Theorem
Attempt all questions
Explain Half Adder, Full Adder with Truth Table.
Explain BCD To Seven Segment Decoder.
Attempt all questions
Find out SOP:-
i. Y=f(A B,C,D)=ABCC +ABB+AAC
Find out POS:-
i Y=f(A B,C,D)=(A+BB)(A+CC)(A+BB+D)
Draw the logic diagrams for the following:-
i. Y = AB+AB+BCD
ii. Y = ABCD+ABD+AC
iii. Y = (A+B)(A+C)(A+B+C+D)
Attempt all questions
Explain T Flip flop.
Explain 3 to 8 line Decoder.
Attempt all questions
Compare: Digital Instruments & Analog Instruments.

Explain Digital Energy Meter.
Attempt all questions
Convert Following Hexadecimal To Binary, Octal and Decimal.

(i) (ABC.AB) 1
(ii) (129.CD) 1

Perform Binary Addition.

(i) (11011011), + (0101101),
Explain different types of Semiconductor Memory
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Q-1

f)

9)

h)

)

K)

9yoxUdl

o{lAotl Usll ol cllot B, (14)
OZML 25 Y2 2 215 2UG2Y2 69,
(A) OR (B) NOT
(B) NOR (C) AND
(16)g SsAL[AHA <otz [zeuul oo 9.
(A) A (B) C
€5 (D) E
Rloveat [Razeva Al dd - Razen uz 51 52 9.
(A) o=l (B) ilua
(C) sl silua (D) »liszd
o2l (22 Hi_ Al GuAlaL UiBaqd Hell salldl HIZ Al 69,
(A) 8 (B) 10
(C) 2 (D) 16
0, 1, 10, 11 «il avid=l 541 uedl, srouHl stixnzl v 2%
(A) 12 (B) 100
(C) 101 (D) 110
1000, HI2 21 sl¥w@dHz
(A) 0111 (B) 1001
(C) 1001 (D) 1000
128 wl ddlHa wefd Wi oleR 9.
(A) 12 (B) 10
(C) 20 (D) 24
641 61 Y2 S dl iz 92 2UG2Y2 Gie 264
(A) 00 (B) 01
(C)01 (D) 11
{12 2uiamidl saiq 3dlada oz d<ls 2iamami 204 92
(A) AND 1. NOR (B) NAND i< NOR
(C) XOR i< OR (D) NAND #i<4 OR
o[t [VH v A +1=72
(A1 (B)O
(C) A (D) A’
l-Hidie, 2112 wme
(A) (ABY =A’+B’ (B)(A+B) =A’*B
(C)A’+B’=A’B’ (D) None of the above.
ol 234l A2l 44 Al2sa Ulgs2 <l UL dZls 2UAMAHL 2019 99,
(A) SOP (B) POS
(C) OR iUzl (D) AND »Alu32l
SrAIR Oleel He1Y2 J-K (30U, AU Hi AU G4 89 AR 206242 2L 89,
(A) w1122 (B) vtzdld <l
(C) oledld &9 (D) wisupL <l
518le22 <Al GUALIL 4L 21% 89 ?
(A) Hiosys2 2ABLALl HI2 (B) uet <il amdzl ®iz
S Page 3 of 4



(C) Halstdlil «{l avid<l Hiz (D) BUR <AL o441 6y
Q-24l Q-8 UrAIHiel SISURL 4 URALAL S¥ALeL VAL

Q-2 AlAAL Rl Al 6¥aleL DU

0L i[5 dlloys d2 UHMAl,

NAND 92 4 %4924 32 d<l5 AumAl.

Q-3 Al Ul <L e¥alot UL

oY@t AEOHOIRL <AL ARIAHT AV 2l UHMAL
Sl-Hioie ¢l22] uHomAl.

Q-4 AlAAL Rl Al 6¥aleL DU

o >

o >

A Sls V12 Vi 5E IR 24 204d U1A AHMAL.
B BCD 4l dad AdH-2 {5152 Aumdl.
Q-5 A=Al URAL AL syalol AUl
A SOP gliHi:-
i. Y =f(A B,C,D)=ABCC+ABB+AAC
POS liHi:-
ii. Y=f(A B,C,D)=(A+BB)(A+CC)(A+BB+D)
B Al2el Yol W2 Al A5 PUAM 121,

i. Y=AB+AB+BCD

ii. Y=ABCD+ABD+AC

iii. Y = (A+B)(A+C)(A+B+C+D)
Q-6 AlAAL URAL Al 6¥ale BUUL.

A T [seu sdlu AHmAl.
B 3 4l 8 Al $l5182 UHMAl.
Q-7 ALl URAL AL ¥t AL
A UHIAL Elw2d HergHez i BIAAL HeagH2 .
B [3[sxea 212 |22 quAl.
Q-8 Al2AAl WAL Al 6Ll VL.
A G5l SAlHA USIIBAL A oUAAZ], SUlHE B BA52A Hi 2Uid2 53U
(i) (ABC.AB) 1
(ii) (129.CD) 1
B o242 21531 DUAL HRAWOU $21.
(i) (11011011), + (0101101),
C (Alaa usizdl AlHsss22 qU2l qumal
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